

13) Practice 4

$$a = 8 \quad t_{16} = 68$$

$$S_n = \frac{n}{2} [2a + (n-1)d]$$

$$n = 12$$

$$S_n = \frac{12}{2} [16 + 11 \overset{\text{//}}{d}] = 6 [16 + 44] \\ = 6 [60]$$

$$\underline{S_{12} = 360}$$

$$t_{16} = 68$$

$$t_n = a + (n-1)d$$

$$68 = 8 + (16-1)d$$

$$\frac{60}{15} = d \quad \underline{\underline{d = 4}}$$

$$\textcircled{S_{12}}$$

$$S_n = \frac{n}{2} (a + t_n)$$

$$\textcircled{t_{16}}$$

Can't

$$\textcircled{S_n = \frac{n}{2} (a + t_n)}$$

$$S_n = t_1 + t_2 + \dots + t_n$$

$$\textcircled{S_{12}} = t_1 + t_2 + \dots + \textcircled{t_{12}}$$

$$l =$$

$$t_n = ar^{n-1}$$

18)

$$t_5 = 162$$

$$t_8 = -4374$$

$$t_n = ar^{n-1}$$

$$t_5 = 162 \quad r t_5 = t_6 \quad r^2 t_5 = t_7$$

$$r^3 t_5 = t_8$$

$$\frac{-4374}{162} = r^3$$

$$r^3 = \frac{t_8}{t_5}$$

$$r^3 = -27$$

$$\underline{r = -3}$$

$$\frac{t_8}{t_5} = \cancel{a} r^7$$

$$t_5 = \cancel{a} r^4$$

$$\frac{-4374}{162} = r^3$$

$$r^3 = -27$$

$$\underline{r = -3}$$

$$t_5 = 162 = a(-3)^{n-1}$$

$$162 = a(-3)^4$$

$$a = \frac{162}{81} = \boxed{2}$$

$$a = 2$$

$$r = -3$$

$$\underline{t_1 = 2 \quad t_2 = -6 \quad t_3 = 18}$$

19)

$$x, x+s, x+9, \dots$$

$$\frac{x+s}{x} = r$$

$$\frac{(x+9)}{(x+s)} = r$$

$$r=r$$

$$\frac{x+s}{x} \neq \frac{x+9}{x+s}$$

$$\cancel{x^2} + 10x + 2s = \cancel{x^2} + 9x$$

$$x = -2s$$

$$-2s+9 = -16$$

$$-2s, -20, -16$$

$$\frac{-20}{-2s} = \frac{4}{s}$$

$$\frac{14}{20}$$

21)

$$a) 9+3+1+\dots$$

$$r = \frac{t_2}{t_1} = \frac{3}{9} = \frac{1}{3}$$

$$-1 < r < 1$$

$$S_{\infty} = \frac{a}{1-r}$$

$$S_n = \frac{a(1-r^n)}{1-r}$$

$$\left(\frac{1}{3}\right)^{\infty} \downarrow 0$$

 ∞

finit

$$S_{\infty} = \frac{9}{1-1/3} = \frac{9}{2/3} = 9 \times \frac{3}{2} = \frac{27}{2}$$

$$26) \sum_{k=1}^{\infty} \left(\frac{1}{2}\right)^{k-4}$$

$$k=1 \quad \left(\frac{1}{2}\right)^{-3} = (2^{-1})^{-3} = 2^3 = 8$$

$$a = 8$$

$$\left(\frac{1}{2}\right)^{-3} + \left(\frac{1}{2}\right)^{-2} + \left(\frac{1}{2}\right)^{-1} + \left(\frac{1}{2}\right)^0 + \dots$$

$$a = \left(\frac{1}{2}\right)^{-3} \quad r = \frac{1}{2}$$

$$\frac{\left(\frac{1}{2}\right)^{-2}}{\left(\frac{1}{2}\right)^{-3}} = \left(\frac{1}{2}\right)^{-2+3} = \left(\frac{1}{2}\right)$$

$$S = \frac{a}{1-r} = \frac{8}{1-\frac{1}{2}} = \frac{8}{\frac{1}{2}} = 16$$

$$9) \quad \begin{aligned} t_5 &= 2x + y & t_7 &= -8x + 7y \end{aligned}$$

$$t_n = a + (n-1)d$$

$$\downarrow$$

$$a + 6d = -8x + 7y$$

$$t_5 = a + 4d$$

$$2x + y = a + 4d \leftarrow$$

$$-(-8x + 7y) = a + 6d$$

$$10x - 6y = -2d$$

$$d = \frac{10x - 6y}{-2}$$

$$d = -5x + 3y$$

$$2x + y = a + 4(-5x + 3y)$$

$$2x + y = a - 20x + 12y$$

$$\underline{2x} + y + \underline{20x} - 12y = a$$

$$\boxed{22x - 11y = a} \quad d = -5x + 3y$$

$$L_n = a + (n-1)d$$

$$L_4 = 22x - 11y + 3(-5x + 3y)$$

$$= 22x - 15x - 11y + 9y$$

$$L_4 = \underline{7x - 2y} \quad \checkmark$$

$$8) \quad L_4 = -11.98 \quad L_8 = 1.1$$

$$L_4 + d = L_5$$

$$L_4 + 2d = L_6$$

$$L_4 + 3d = L_7$$

$$L_8 = L_4 + 4d =$$

$$1.1 = -11.98 + 4d$$

$$\frac{1.1 + 11.98}{4} = d$$

$$L_4 = a + 3d = -11.98$$

$$L_8 = a + 7d = 1.1$$

$$t_8 = a + 7d = 1.1$$

$$t_4 = -11.98$$

$$a - 1.1 = -7d$$

$$a + 3d = -11.98$$

$$a + 11.98 = 3d$$

$$\frac{a - 1.1}{-7} = d$$

$$\frac{a + 11.98}{-3} = d$$

$$\frac{-21.79 - 1.1}{-7}$$

$$d = d$$

$$\frac{a - 1.1}{-7} = \frac{a + 11.98}{-3}$$

$$a + 3 \frac{(a - 1.1)}{-7} = t_4$$

$$\frac{-7a + 3(a - 1.1)}{-7} = \frac{-7a + 3a - 3.33}{-7} = \frac{-11.98}{1}$$

$$\frac{-4a - 3.33}{-7} = \frac{-11.98}{1}$$

$$-4a - 3.33 = 83.86$$

$$-4a = 87.19$$

$$a = -21.79$$

$$d = 3.27$$

$$t_{12} = -21.79 + (2-1)(3.27)$$

$$-21.79 + (1)(3.27)$$

$$-21.79 + 3.27$$

$$t_2 = -18.52$$

Geometric = Add
Arithmetic = Sub

$$t_n = a + (n-1)(d)$$

$$t_4 = a + 3d = -11.98$$

$$t_8 = a + 7d = 1.1$$

$$\square = \square$$

$$\begin{array}{r} (a + 3d) = -11.98 \\ - (a + 7d) = 1.1 \\ \hline -4d = -13.08 \end{array}$$

$$a + 3(3.27) = -11.98$$

$$-21.79$$

$$d = 3.27$$

$$t_n = a + (n-1)(d)$$

$$t_5 = a + (4)(d) = 2x + y$$

$$t_7 = a + (6)(d) = -8x + 7y$$

$$\begin{array}{r} t_5 = a + 4d = 2x + y \\ - a + 6d = -8x + 7y \\ \hline -2d = 10x - 6y \\ \underline{\quad} \\ -2d = \frac{10x - 6y}{-2} \end{array}$$

$$2x + y = a + 4(-5x + 3y)$$

$$2x + y = a - 20x + 12y$$

$$2x + y + 20x - 12y = a$$

$$22x - 11y = a$$

$$d = -5x + 3y$$

$$t_4 = 22x - 11y + (3)(-5x + 3y)$$

$$t_4 = 22x - 11y - 15x + 9y$$

$$\underline{\underline{t_4 = 7x - 2y}}$$



































